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QUESTION 1

Your implementation requires an installation of two types of devices:
1.

Electric Smart Meter

2.

Gas Manual Meter

Which two Device Type attributes are required to identify these device types? (Choose two.)
A. Device Business Object

B. Service Type

C. Valid Measuring Component Types

D. Manufacturer

E. Serial Number

Correct Answer: BC

QUESTION 2

Measuring components are either subtractive or consumptive. Which statement correctly describes these two
concepts?

A. Subtractive measuring components are associated only with water service, whereas consumptive measuring
components are for gas and electric services.

B. Subtractive measuring components are used to measure demand, whereas consumptive measuring components are
used to measure how much was consumed since the previous reading.

C. Subtractive measuring components are associated with deductive meters, whereas consumptive

measuring components are not.

D. A subtractive measuring component\\'s consumption for a given period of time is the end measurement minus the
start measurement. A consumptive measuring component\\'s consumption is simply the measurement itself, and
represents the consumption for the period of time since the previous measurement was taken.

Correct Answer: B

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf

QUESTION 3
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A Service Order Orchestrator determines the steps required to complete the service.

As an example, based on the state of the service point, what does the Enable Service Orchestrator determine the
actions for?

A. Create a Device Configuration; Install a Device; Turn on the Device

B. Connect the Service Point; Install a Device; Create a Usage Subscription
C. Create a Service Point; Install a Device; Turn on the Device

D. Connect the Service Point; Install a Device; Turn on the Device

Correct Answer: C

QUESTION 4
Which describes derived values and their relationship with Final Measurements?

A. Final Measurements can have multiple derived values, which represent other values for the same Final Measurement
Date/Time.

B. Derived values can have multiple Final Measurements, which represent other values for the same Initial
Measurement Date/Time.

C. Final Measurements can have one derived value, which represents an alternative for the same Final Measurement
Date/Time.

D. Final Measurements can have one derived value, which represents the Initial Measurement for the same Final
Measurement Date/Time.

Correct Answer: D

QUESTION 5

The base package usage transaction business object is represented by D2-UsageTransaction. The usage calculation
engine or process drives the specifics of the usage to be calculated on this business object.

Based on this, which three configuration areas will have an impact on the usage calculation process? (Choose three.)
A. VEE rule

B. TOU map

C. Usage Rule

D. Factor Override

Correct Answer: BCD

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1 0_3.pdf
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